632122 KA E 6E 2018 # T BUF A5 IR RBIE B LR

ML LT
WK 20184 RS FRE 2018 R 5 R AT H
—REE THHEE R TIHESE
A R A=B+C B C D=E+F E F
E_ RAEER Lk B T 17. 946300 14. 906300 3. 040000) 15. 370556 13. 067556 2. 303000

e L AR R EAMIX ARG gy Hb X TT SR A5 55 BB S AR BB AT 4
2. AR IME LN I B P B THE RIBN RAR R SMAETS G —HHALXTF .



#*1-2

632122 RAEIETREBIEE2018FE T —RFELZLTIERE

Hf: AT
m H TS PATH

. 201 THE AR T BUR — M £ 95 AR A S bR 11. 957299

T\ 20185 AR H 77 BURF — M filt 55 AR A PR A 14. 906300 13. 067556

=\ 20184EHh T BUR — it 55 RATE 0. 000000 3.138027

LB DY T ) [ s 4 Rl 2H 23R A1 BETBUR DR 0. 000000 0. 110027

20184 i 77 BURF — M it 275 AT # 0. 000000 3. 028000

VU 20184F 1 J7 WU — 57 45 38 AR 4t 1. 869500 2. 028000

T 20184 A M T BURF — ot 55 R AT THPAT £L 13. 067556

75~ 20194F b 7 W U 7 0. 000000 0. 000000
B\ 20195 77 BUR — R f5 55 AR A0 R A 0. 000000




#1-3

632122 RAEIETREIEE2018E T ETHELLHMBENE

Hf: 2T
m H TR PATH

. 201 THE AR M 5 BUR & U5 55 AR A S s £ 2.603000
T\ 20185 AR H T BUR L T fiit 5% A% A PR A 3. 040000 2. 303000
=\ 20184 Hh 5 BUR & T3t 2% R AT A 0. 000000 0. 000000
VU 20184F 1 J7 BUR & 57 55 38 A< 40t 1. 150000 0. 300000
T 20184 A M T BURF & 153 55 R AT THPAT £L 2.303000
75~ 20194 iy 77 BUR L Uit 458 14 BR A0 0. 000000 0. 170000
G\ 20194 K Hh 75 BUR 1 T 55 42 40 P 47T 0. 000000




#*1-4

632122 RMEKLTEKEBEE B BURGF RIT RIEAS BBERE

il {20

IR H A 23 X KL
. 20184F RAT T AT L A=B+D 3. 028000 3. 028000
(—) —fiigs B 3. 028000 3. 028000
Hodr: PR C 0. 700000 0. 700000
(=) Loifiigs D 0. 000000 0. 000000
Hr: R G E 0. 000000 0. 000000
T 2018 IR AT PAT AL F=G+H 1. 000000 1. 000000
(—) —ffiigs G 0. 700000 0. 700000
() Wik H 0. 300000 0. 300000
=\ 201854 B AT £ I=J+K 0. 472637 0. 472637
(—) —Hfis J 0.387413 0. 387413
(=) Lhifiigs K 0. 085225 0. 085225
9. 20194k ATl 55 4 L=M+0 1. 365000 1. 365000
(—) —hizs M 0. 825000 0. 825000
Hordr: PRt 0. 825000 0. 825000
JoF AP R 22 N 0. 000000 0. 000000
(=) Lhifiigs 0 0. 540000 0. 540000
Hodr: FmheE 0. 540000 0. 540000
Vo PR 2 p 0. 000000 0. 000000
T 201954 B A2 Q=R+S 0.470723 0. 470723
(—) —fiigs R 0. 408663 0. 408663
(=) Lhifiigs S 0. 062060 0. 062060

e L AR AI X AL bR T BUN i (B FRSE 6D RAT JOEAAT B HATEL A B TT BUR 6 2757 8 A4 BT HSE
2. AR d B LA 3t T7 % P B T IEA RN AR SAUHERS G —+ H AT



